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Standard Sudoku

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.
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Standard
Sudoku

3 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and
2X4 box.

Standard
Sudoku

5 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Tudoku ahabharat

Page |2

(0))

N

Rohan Rao



Standard
Sudoku

5 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku

5 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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Irregular
Sudoku v

2 points

Place a digit from 1
to 6 in each empty

cell so that each 5 1
digit appears
exactly once in each 6 3

row, column and
outlined region.

Each outlined 5 6
region is marked by

thick borders. b

Irregular
Sudoku v

11 points

Place a digit from 1
to 9 in each empty

cell so that each 6 2 8 7
digit appears
exactly once in each

row, column and 2 6 8
outlined region.

Each outlined 3 1
region is marked by

thick borders. 4 2 9

/ 8
Sudoku Hahabharat Rohan Rao




Surplus
Sudoku

3 points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row and column.
Digits 1 to 6 must
appear at least
once in each of the
outlined regions
with seven cells.

Surplus
Sudoku

13 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row and column.
Digits 1 to 9 must
appear at least
once in each of the
outlined regions
with ten cells.
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Scattered
Sudoku

4 points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region and
the six grey cells.

Scattered
Sudoku

10 points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column,
outlined region and
the nine grey cells.
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Toroidal
Sudoku

3 points

Place a digit from 1
to 6 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Some of the
outlined regions
wrap between the
top and bottom
edges, and/or the
left and right edges
of the grid.

Toroidal
Sudoku

12 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
outlined region.
Some of the
outlined regions
wrap between the
top and bottom
edges, and/or the
left and right edges
of the grid.
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Chain Sudoku
3 points

Place the digits

from 1 to 6 in every
row, every column
and every chain of
connected circles.

Chain Sudoku
17 points

Place the digits

from 1 to 9 in every
row, every column
and every chain of
connected circles.
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Solutions

Toroidal

Scattered
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